

Townhouse in Mosta



Mosta, Central



€1,595,000

Reference No: 240491017-30

 Total Rooms: **9**

 Floor Area (m²): **200**

 Bathrooms: **2**

 Bedrooms: **3**

Townhouse - For Sale - Mosta

MOSTA—TOWNHOUSE with yard and a street-level interconnected 2-car garage. This house has lots of potential to become the nice family home of your dreams or to develop. Permits for 4+1 should be issued but not in hand yet. A beautiful Hallway welcomes you inside and takes you straight to a Kitchen/Dining/Living room which leads to a spacious yard. Inside these rooms, one can still find original features like wooden beams. Also it consists of 3 Bedrooms (2 of them double bedrooms), a beautiful Landing/Hallway that is full of natural light coming in, a main Bathroom, a Spare Bathroom, a Washroom (that can host a kitchenette, or another en-suite with shower) and full spacious roof. This property can have the permit of a pool. It is situated in a nice area while close to all amenities within walking distance to the Mosta Church. Freehold. Contact the agent for more information.

Features

- ✓ Kitchen/Dinette
- ✓ Entrance Hall
- ✓ Yard
- ✓ Back Yard
- ✓ En Suite
- ✓ Electricity Utility
- ✓ Air Space
- ✓ Satellite / TV/ Cable

Rooms

- ✓ Hallway : 12.65 x 1.74 m (22.01 m²)
- ✓ Living : 5.05 x 3.33 m (16.82 m²)
- ✓ Open Space : 5.08 x 1.99 m (10.11 m²)
- ✓ Dining : 4.12 x 3.37 m (13.88 m²)
- ✓ Kitchen : 4.48 x 2.11 m (9.45 m²)
- ✓ Bathroom : 2.76 x 2.11 m (5.82 m²)
- ✓ Open Space : 6.94 x 2.91 m (20.2 m²)
- ✓ Garage : 5.19 x 5.26 m (27.3 m²)
- ✓ Double Bedroom : 5.25 x 4.7 m (24.68 m²)
- ✓ Double Bedroom : 5.27 x 4.15 m (21.87 m²)
- ✓ Open Space : 3 x 1.5 m (4.5 m²)

- ✓ Double Bedroom : 4.59 x 2.08 m (9.55 m²)
- ✓ Bathroom : 2.77 x 2.1 m (5.82 m²)
- ✓ Laundry : 1.37 x 2.1 m (2.88 m²)
- ✓ Open Space : 12.67 x 5.3 m (67.15 m²)
- ✓ Open Space : 5.19 x 5.26 m (27.3 m²)
- ✓ Open Space : 4.1 x 1.2 m (4.92 m²)

Gallery







Paul Schembri

RE/MAX Partners - Fleur De Lys

M: 79352743

E: pschembri@remax.com.mt

T: 99467221

RE/MAX Partners - Fleur De Lys

242, , Triq Fleur De Lys, Fleur De Lys, Malta